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SA: AX

=
M MSA

g SH(2L2F/NF)
o MEXEIIZ 2EHSTEISD) (e
. ) _ 0] st &= of b =
SA - ZH - G(SIH) - NRAY - BAS S o=t HimE=]
Oger SE4H BHERIE S
14,000,000 *13] 14,000
Ogd EE4t S2U3
14,000,000& *13] 14,000
Og ES4HH M= BHASU3
32,000,000&*13] 32,000
OZ S S2UE
17,500,000& 13l 17,500
Oge EELHHH E720H S
14,000,000& *13] 14,000
OZ ELHH &= iUl
24,000,000& *13] 24,000
OZ SLHH &= - & HILIAS
11,200,000 %13 11,200
Oge EE4HH OF2OHE
16,000,000& *13] 16,000
OZ S S4tE
3,500,000 13 3,500
OZY =L IS
7,000,000 13 7,000
OZY =L s72U3
9,100,000 13 9,100
OZY FASLHH 832U E =S
20,000,000& *13] 20,000
ogazsI| HOIEZUS
4,700,000 *13] 4,700
Ogad= =22 HgH
4,500,000 *13] 4,500
Ogegxs usd)| stdgd S4EI|HE
2,500,000& *12] 2,500
O2024 = MEHSUHSH(S0ILHS])
5,000,000&x205= 100,000
Odg AER 0 =03
10,000,000& *12] 10,000
T M=Us &It NEO12) 422,173 625,900 AN203,727
307 212+0|& 422,173 625,900 AN203,727
02 BIZtAAAIHE X 127,173 147,900 AN20,727
20l & 127,173 147,900 AN20,727
ONetd: XMsis &8 & o= 2
434,500 3 *521 2,173
OsUNE 483 X (Z HELs S
A HISHH) 8,750,000 x4E =5 35,000
Odetd: Xsis ot d gd= ¢
=gl 360, 0002 *2502! 90,000
04 QIZHHALAIE 2T 295,000 478,000 183,000
201 & 295,000 478,000 A183,000
Odetd: X=sisl &t
6,250,000 «245= 150,000
Odetd s dex=siial &t
6,000,0002x208 = 120,000
Odetd: H=aME=sUsl &It
3,125,000 85 = 25,000
HXEH | X (012) 170,000 130,000 40,000




A AR AR
I HSUY SE(SSLBB/HK)
cel: MSXEII2 2L (MSTEIII) (2 3@
- - FoH (E] FOM -
SH - B S9(3H) - NRAY - BES S cR HIDS2
307 QI2+0IA 170,000 130,000 40,000
02 QIZFAAALRI B 20,000 40,000 20,000
20] 4 20,000 40,000 20,000
Os -5l MXSRE XA (22, 88 S)
10,000,0002 23] 20,000
04 DIZFBHAIAIRIE X 150,000 90,000 60,000
20] 4 150,000 90,000 60,000
OS - 6tH AEE2/0 0203
35,000,0009 23] 70,000
OS - 6tH 2EE22/0 2043
20,000,000 23] 40,000
OS - ot XS E AE22|0
20,000,0009! 23] 40,000
HOHOIH S KA(DI2) 137,439 0 137,439
307 QI2H0IH 137,439 0 137,439
02 QIZFAMAIRI S T 7,000 0 7,000
20] 4 7,000 0 7,000
OOl ARXESS| FIEN U BE
X 700,0002! %10 7,000
03 QM E Y 2X 83,389 0 83,389
20] 4 83,389 0 83,389
OLL2HRIMSE ALR= X2 0]
1,584, 1662 =201 % 128 38,020
OLLR2HNRIKSE AR XA 4
9! AL E 1,057,0412%201x 128 25,369
OLAZ NS 28l XA
5,000,0002 *43] 20,000
04 QIZFBHAIAIRIE = 47,050 0 47,050
20] 4 47,050 0 47,050
OXetEE HOjRIRSHE =t
3.000,0002*105= 30,000
OFIEE ZOI SIS 2D}
1,625,000 +852 13,000
02024 HMetet S s0tIHISHE] 20t
3,000,0002 13| 3,000
O2024 FEAHH SL20ISRZONR &3
ohal 1,050,000 *12! 1,00
MPES(AZXARID) (23LZZ/HK) 1,070,338 1,017,176 53, 162
SHENE(MSTEIIB) 1,070,338 1,017,176 53, 162
NSXEI2 1,070,338 1,017,176 53,162
602 OlIXIZ 1,070,338 1,017,176 53,162
01 LEHHIXIS 1,070,338 1,017,176 53, 162
20] 4 1,070,338 1,017,176 53,162
QX2 1,070,338,0002 *13! 1,070,338




SA: E0I=
M YASE MEBXRRI(AEEN/IIZMSSE)
=012 28(AsI=1012) (

=t AtE e EA
S - BB BR(31) - NSAY - BES S SR b=
=== 1,482,865 1,422,932 59,933
NASS MBI (ASSX /I ZHESE) 55,000 60,000 25,000
ASIEXDIZ2 2E(MSXIDI2) 55,000 60,000 5,000
ANSI=XID222] 5,000 10,000 25,000
307 QIZ2t0| ™ 5,000 10,000 25,000
02 RIZHBAAIEE R 5,000 10,000 A5,000
=0 A 5,000 10,000 25,000
OFHEAZEOC! MNAMMEAIE HE K&
2,500,000& x2JH A 5,000
== 50,000 50,000 0
307 2I2t01H 30,000 50,000 220,000
02 RIZHBAANEE L 26,000 0 26,000
S0 &t 26,000 0 26,000
OXez2z AFAIgE &8 XJ
20,000,000 *100 2 20,000
OX A2 el SAR A&X| Ast
3,860,000& *13] 3,860
OXetdle SAAH &K A8
2,140,000& =13 2,140
04 DIZISHARAIRE 2 X 4,000 0 4,000
20 &t 4,000 0 4,000
OXtett2tst sty AL K&
4,000,000&*13] 4,000
402 QIZ2ERH=01H 20,000 0 20,000
01 DIZEXEAIS B AR (XA 20,000 0 20,000
204 & 20,000 0 20,000
OXEZZ AL EE LIRS A X
20,000,000 *1J0 2 20,000
MEPES(FLU2X L) (AIEIEX /I ZMEBH) 1,427,865 1,362,932 64,933
BEXE(AESXI1Z2) 1,427,865 1,362,932 64,933
ARI=XDI222 1,427,865 1,362,932 64,933
602 OIXI=2 1,427,865 1,362,932 64,933
01 LBHHIXIZ2 1,427,865 1,362,932 64,933
20 & 1,427,865 1,362,932 64,933
OMII=EXIDIZ2 WXIZ2
1,427,865,000& *13] 1,427,865




S JIES=D
M o= ZE(AE=X/ES - IEL0IA)
ol SBS U OEFHNA(SEBSIID) (Sl &2
2 ~ Off koK & Ol &Y =
S - BB G9(3) - NIRAY - BAS ) o=t HimE=]
e 1,346,786 1,362,365 A15,579
Ol4=R ZR(AESN/2S - HELNA) 8,310 05,450 19,140
HES U HEFMN(SLBSIID) 8,310 105,450 A19,140
ST L HEFHUN 8,310 105,450 A19,140
201 Y2yl 11,600 1,600 10,000
01 AFR2t2IH| 1,600 1,600 0
=0l ot 1,600 1,600 0
OSBYSEIL L HoXDS
800,0002/+23] 1,600
03 A2 10,000 10,000
=0 ot 10,000 10,000
OYHBSFT IS N2
10,000,0002!13] 10,000
01 YPBHIZ 50,850 60,850 10,000
TENNEE] 50,850 50,850 0
=0 ot 50,850 50,850 0
ONNESS T2 29
3,242,002 158} 48,630
OYHBST|GSAL B4 (TFR)
20,0002 ¥30% 600
OOECHI GIATHs] &M (TxR)
20,0002 *50% 1,000
OOAITT AlEQIAIE &4 (TF2)
20,0002 1% 220
OO LF s BT
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307 QI2H0IH 13,860 33,000 A19,140
VEIEIEYONETEES 7,700 10,000 2,300
=0 ot 7,700 10,000 £2,300
ON&s2INY L SXNSTAY XIS
3,850, 00021 x20H 7,700
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=0 ot 6,160 8,000 A1,840
OSSHXNEX A2t
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01 Al 10,000 10,000
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=0l ot 1,260,476 1,256,915 3,561
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SN SAERED
Hu: YREE(SABRED) (SEHIS/SY - 55)

SRS ESIEREIME S SIEY LR
SA - EH - CR(B) - NRAY - BaS S SR RS2
NPES(sAERSH) (sl d/sY - &) 5,760,108 5,685,547 174,561

HEXE(SASIHEEDZ) 5,760,108 5,585,547 174,561
SHSIEOHED |2 28 5,760,108 5,585,547 174,561

602 OIlXI= 5,760,108 5,585,547 174,561
01 ol X2 5,760,108 5,585,547 174,561
=0 A 5,760,108 5,585,547 174,561
Os4&2IHEtE D2 0IXIZ2
5,760,108,000& *13] 5,760,108
HRES(sAERSH) (MIISKI/AISIS XL EH 644,757 149,652 495,105
HEIE(AMEREDD) 644,757 149,652 495,105
ABSREIZ2 88 644,757 149,652 495,105
602 Ol K12 644,757 149,652 495,105
01 BHalxIZ2 644,757 149,652 49,105
=0 A 644,757 149,652 495,105
OAER=D12 WXI2
644,757,000& *13] 644,757
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FA: ZeIoHE
B T ol Y U BPS YSHBDE MU /LT - 21l
el Met2eDis 2E(HE22l012) (et E
SA - FH - SR(3) - NRA - BES 5 S imE=]
s LAFSH, 4,773,069 3,323,028 1,450,041
et - THall ol & =75 dsHSSE MK /T 471,760 471,760 0
ST - PIS)
HetzeDls 2g(daedis) 471,760 471,760 0
Hatolet & S28=7013) 471,760 471,760 0
201 ¢et2d| 31,760 31,760 0
01 At22telH 31,760 31,760 0
=0l At 31,760 31,760 0
ONftt2ted =358 31,760,000 *12] 31,760
401 AlEHIZL O] 440,000 440,000 0
01 Al&tl 440,000 440,000 0
=0l &t 440,000 440,000
OMafiie & S=5+ AtgHI
440,000,000& *12 440,000
WRES (2N (SBEMUN /THHLTY - 2IEe) 4,301,309 2,851,268 1,450,041
BEXE(MH22l0I3) 4,301,309 2,851,268 1,450,041
Het2eD =28 4,301,309 2,851,268 1,450,041
602 GiIXl= 4,301,309 2,851,268 1,450,041
01 LEtUXI= 2,439,544 1,073,832 1,365,712
=0l At 2,439,544 1,073,832 1,365,712
OMtt2elllz tXl=s
2,439,544,000& 12 2,439,544
02 2|RUXI= 1,861,765 1,777,436 84,329
=0l &t 1,861,765 1,777,436 84,329
Olet2elllz SR0x=
1,861,765,000& 12 1,861,765
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=N

-
B Sl pel(8/ASRG - 23)

SR HSoISLHeIBSEMY (HSot-SLHeINSEAILAEZ) (& d
SN - O(BIH) - NRAY - BAS (%'%fj:) @%%gm;ﬁ% D=2
=E A A 31,819,112 31,861,559 YA/ ZVive
ol el (stF /Aot E - 2=2) 500,000 950,000 A450,000
Eot+ B2 He BB AL (2o EL M ZBEN 500,000 90,000 450,000

AN 2)
U2otexeld 2d2e 500,000 950,000 450,000
401 Al&HILL0HY| 500,000 950,000 A450,000
01 Al&HI 500,000 950,000 A450,000
=0 A 500,000 950,000 A450,000
OUE2otHeIANE SR 24
500,000,000& *1JH A~ 500,000
MHRPES(FTAIEA) (BHE /Aot E - =) 31,319,112 30,911,559 407,553
BEIE(HESot=SLMHCIHRSEAMNAEEZ) 31,319,112 30,911,559 407,553
S8 N2 &2 31,319,112 30,911,559 407,553
602 OlXI= 31,319,112 30,911,559 407,553
01 LBHHIXIZ2 31,319,112 30,911,559 407,553
=0 A 31,319,112 30,911,559 407,553
Oulxl2 31,319, 112,000& *13] 31,319,112
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